
Zu2rlttn{nr-plurh rlrurlhpurgrlurh ull

truh\[ qfiuullnp qnpbur4frp urtrop

rnhoplrhmplurh hurluurqurh'

9fiuullnp hur2rlurqurh'

2rurfurqurprllu\ $|rtrurlruur\urtr urprgnrhphhplr rfuru[rtr hrurlurlurlprlurE hur2rltuulurplnrh
3l drupuf 2018p.

9ntr{hpu pruh\<DtrQ, p. bpbruh,.{. Uupqulurb 2611

U.2,ur\nplurh

'I. Uquru3uh

31/03/\i
in\nuulfh t\uLtnrur 4,859,626 3,912,097

Sn\nuu1frh burluu '7 (2,248,742) (1,97t,928"

lnun rnn\nurulfrtr h! rurlnun 2,610,884 t,940,16s

Uf 2tnp4urlduphhp[ qbn{ h\unfnttn 8 574,504 461,175

Llhphnnnu{durnhhnh qbnil bu}uu 8 (208,6e0) (137,660)

0[2bnp4urldrupLtpf qbn{ qnr-u t\rurfmur 365,814 323,515

?nun runbtnpurl[rb h\urdnun o 339,683 258.605

[ptnupdnrlp[r {hpuqbuhuunul}rg qnr-ur (rfruru)/oqnun (46,848) (6,426)
.lurdurnpf hulftup rfuru2h$ hhn4pnuihtplrg qnr.rn oqnln 178,45f 36,471

UJI Equlunrur 10 272,192 245,66t
.ludunpf hullurp rlunn2h$ hhp4pmrlhhplr qbnrl urpdhqr\ntrlfrg \npnruurtrbp/htu\ur4urpdnul 18,205
,{,up\ur1[L \npntuurtrtpfr updhq\nrilfg \npnruurhhp ll (360,319) (489,e36)

Uhd,hu\uqdf qbml burluuhp t2 (1,140,715) (993,260)

llultlu\rutr rlf2nghhpf ilru2{urbnrplnilr 22 (146,024) (182,246)

O2 Llntpur\urh ur\ullltrhpfr urdnpurfrqurg]rur t? ( 13,6181 (e,033)

Ll11 burluuhp I3 (848,32s) (621,474)

luhnqp/(r[truu) ilfir2h 2uhnr-pruhup\ 1,229,3U 502,054

Suhntpuhup\f qbn{ buluu 14 (221,368) (107,8571

lur2rlturnr- drurf ruhur\ur2p2urtrfr 2uhnr; p/(rlhuru) 1,008,01c 394,t9i
LI;1 hulhuqurpr[ru\ t\rurfnr-ur
eu2nFrlill drUulruqur2pgurLhhpnrd npqLu 2urhnqp \uil {ruu 2rlhpru4ruuur\upq{n4 ur11

huiluqup{rur\ Sflrubuu\ruh urprg ntrplrtp
2h, fi uh rlf2ngbhplr rltpurghruhuunr-rl
Surhmpurhurp\|r urq4hgnr-p1mtr

lur2np4nq durluhur\ur2p2urblrtpnril npqtu 2uhnllp \ulf {ruu yrltpur4uruur\urpq{nq qnru ur11

[udurqurprlrur\ $[trurbuur\ruh urprpnthphtp

Z,upnpr1nrl dur{urtrur\u2p2urLLhpnrd npqtu 2urhnllp \ulf {ruu {tpur4uuru\urpqqq u{t
[ullurqurgrlrur\ Qfrtrurhuru\urh urprg nr-trptrhp
.truatunpF nruuruf uurnlEur uElr4FnluurlFu urFotrIallrtrFl nEUt qurulquro qnFournunlrdjnruuEpFg
jtpug{ub oqmur/(r[ruru) 257,074 266,721

.{udurnpfr hrurfurp rfunn2h$ trhp4pnr-dur1[rtr urpdhprphp]r hhur \urqrlurb qnpburnhntp3nrtrhtpfrg

[pug{ub oqntur' rltpur4uruur\urpqrlurb $}rhurhuur\urh urp4lnr-trphtp}r rluru}rh hur2rlhrnrlmplnrhmrl (178,4s6) (36,471
hpu\urh updtpn{ urllhutfuqup{rur\ h\urutmrnhhpnul hur2rlurnrlnrl qurprnpurlfh hhp4pmilhhpf
urpdhqt\nulfrg \npuurfr {rnrfrnlunrplmh (18,20s)

3urhmpurhurp\[r urq4tgnrp; nr-h (ls,724) (28,047)

Zu2np4nq durfutlu\u2p2urlrtrtpnuf npqtu 2urhnqp \uril r[ruru rlhpu4ruuu\nrpqrlnq qnun u11

huilurquprlu\ $flrurhuru\ruh ruprgnrLpLhp 44,685 202,203
U11 hrurfruquprlru\ t\untnun/{ruru hrup\nuf[rg htrnn 4,689 202,203

lfuaudtLp hulfurqurprlrurll t! urfnwr/(rlhuru) r,052,705 596,40(



$frtnutruru\rutr ft dutlth rluru]rtr hrurtrulurlpr[ub hur2rlhrnrlntplnth
31ilurpuf 2018p.

9nbrlhpu purh\OtrQ, p. bphurb,.{. UurpqulurL 2611

u\uf{hhp
lpuLturlurtr rlhqngLtn h nnurhq hulftundhphtn 15 45,338,331 39,842,049

UnLupurlffr urpdhpqphp 16 742,435 787.330

'tlurhuL2bhp puh\hpf b\uuLturttp 77 rr,74r,378 10,546,355

Zru6urtunn+hhnhtr rnnrlurb rlurnthn h rhnhurnmBtmhhhn t8 155,210,767 165,167,50C

.ludunp[ hulltup ilutrr2hfr hhpqpnttlulfh updhprphp t9 20,062,278 22,872,2t8

Zhurqlllurh qurllurhurqpbpnrl qrunlurlpqub urpdhpqphp 20 6,5r4,632 3,056,11:

Uftt2L ilurpilurtr duil\hup qurhrlnq urpdhprphp 2l 1,348,654 346.r4C

Zfilhu\uL d[2ngLtp zz 6,342,859 6,t75,28i
O2 tr3mpur\urb u\urf{Lhp 23 269,472 226.538

Fnhuqurh&rlurb ur\u[tlhhp z2 1,792,363 1,832,119

Urr urtuhdhhn 25 2,180,039 2,004,204

Cb4uiltLg u\ulr{htp 25L,543,748 252,735,853

ThupunurlnpntplmLLhp h \urqlnnrul
tlhupurrurlnpnrpS nttrhtp
'tlurFrnull nnnrBtnrhhhn nuhlr hnh hLurullunlr 26 11,188,749 15,173,46

Ububglul $[Lurhuur\urh qrupurul{npntplnttrbhp 27 66,963 68,8s

'tl urpurullnpntpl nttrLhp hurdurlunprltrhpfr b\urunfunip 28 175,000,502 r73,914,t57

9urqilur\hpqntplurh \"{rlhg pnrlurp\{urb urn\nuurlfrh urpdhpqphp 29 5,929,828 5,931,969

lLBughLt ulurpurunlnpmBtnthhtn 2urhntpurhurp\h cbn{ 706p24 494,r7

Zhurur&qrlrub hurp\ur1|rh qurpurunlnpntpSnthhhp t4 1,03r,274 1,302,993

U11 rlrnluurnm rlfr2ngtrhp 30 13,758,786 12,659,35C

Utt rUunrnurUn1tnrplnrhhhn 31 t,423,869 7,336,87i

Ullqurhnrurnhbp 32 58,16

Uurnpur4uru {rn}uunmpl nrtrhhp 33 5,905,776 5,854,39(

lhrlullhbp qurprnunlnpmplnrthhp 215,090,832 276,735,231

trurq[uur1
9urhnhur4pru\uL \uqfruru1 34 16,416,633 t6,416,633

hil[u[nL h\rurlnr-rn 63,23? 63,233

*[uu{np qurhntuur 1,243,064 7,243,064

Ulluluhmuurhhp 5,650,962 5,352,858

2put2lu{ub 2urhmSp 13,078,424 12,923,83:

lllquUhfrp qurulFuurt 35,4s23ft 35,999,621

Q\ullhbp qrupunurlnpmplnrtrtrtp h \uu1furu1 251,543,148 252,735,853

Zur2{hu{ntpluh {u{hpugiluh uiluurpf{p' I 3.04. I 8p

trtuh\| qtuut{nn qnpburr$p urbophh

utrop[tmp1uL hur]uurquh'

c}fiuu{np hur2{urquh'

U. Zu\nplurh

rI. Uqururlruh
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apuilru\utr rflr2nghhplr hnuphpf rluru[rh hrurftu]urlprlrub hur2rltur{nrplnth
31 ilurpuf 2018p.

9nh{hpu purtr\ AtrC, p. bphurLr,.l. Uurpqulurh 26ll

tl

2ngLhph huptF qnFbur uh qnFhnrhtnrplnr-hlrguuu

JururgrlurE rnn\nuhhp 5,715,362 3,900,408
:ldup{urb rnn\nutrhp ( 1,513,89 r ) (2,041,688)
Juug{ub rl}r2trnp4ur urphtp 574,504 46r,775

tE ilf2hnp4urldurphhp (208,6e0) (137,660)
:uhnqplr \unf rilrurulr ilh2ngnrl }rpur\urL urpdhpnrl2urfnlnrl $frtrurhuru\utr ur\urfnfrhpfrg oqnun / rltruu 339,683 ( I 9.448)
IFuupdmJlaurllrtr qnpburnhmplnthLhplrg uururgrlurt oqmur / rlhtuu 311,059
Jurug{urb ur11 t\urilnrur 272,t92 245,669
{duprlurb rlrup2ur\uh burluutp (1,140,715) (993,260)
?nr-rn rltruru u nhurprul tr urpdtprptpfg t6,357
U1 1 qnpburntru\urh burluutp (848,32s) (62r,474)

lpulftu\urh rllr2ughtplr bnuphp' rlfrh2h qnpbunbur

[nqrnbntpnr-trtrtpg 3,190,1r9 I,l2l,l38
*nP w u u lnfi (uhFlt (w tl hpgnul)/Itttuqnul
Unbtnpulfrh rupdtplphp 44,895 234,394

2,394,t16L\ururiuilp (1,063, ls9)
ludulunpnLhFhh urprlurE rlurp\hp h rJrnlurunnr_p3nlhttp 9,270,677 (10,789,291)
Fnbu.rqurhArlurb ru :F 39,756 4,000
J11u\uf{rtp rs3,08l (674,834)
+nFdu nltur q uJ U rq wF a u 1 n fi tt hprt u I h yu gn ul/(b { w qnul)
turFuuqnFnlplnilrLhp purtr\hp[r trluruilrurip (4,098,213) 67,620

4lurnrnur npnrplnrtrtrhp hrudurlunp4htpfr h\ulnrltu rlp (166,068) 12,816,230
Uburhglur1 qrpbfphtp (2,s 15) 19,318
U1 1 qupuullnpntplmLLhp (106.247) (957.673\

9ntu ryturftu\urtr rlh2nghtFlr hnuphp qnpbunhru\ruh.l.thnthtmplntLlrg rflrblr 2urhnr-pruhurpllp 7,262,327 4,235,019
.{dup{ub 2urhnrpurhrup (2r2,7s3) 20,157
sant.tn lpruUutquL Uf2ngtrtplr hnuptp' uururgrlrub qnnbrur uL qnpbnr-trhnrplntL[rg 7,049,574 4,255,t76

uuu utr rllrgnottl b hnuptF lrtFlFltrlurllrh qnpbnr-trtnr-plnthlrg
i[urdrunl huniurp iluu2tflr hhp4pnulurlfrh urpdhpqphnh dhnpnhnnul (10,546,61 1) (3.487.911)
i[urdunl hurilurF ilurulttr htp4pmrlur3]rh urpdhp4ptlfr rlurdunpfrg hnuptp 10,599,818 635.744
lr LlnrDu\urtr ru \uf r[rtpf Atnpptpntrl (3e,s84)

{hurlluh rlf2ngLhpfr d,hnpphpnr_ri (326,428) (4.6s8)
lf ilLur \ruh rllr2ngtrtplr {udunp}rg hnuphp 34, l0l
lnu rururilru\urh df2ngtrttlr hnuphp' oqururqnpbrlurb htnu'nr_rlur1frh q.nphmhhmplnlhntrl (278,705) (2,856,824)

IFurilu[uh {h2ngLhp[ hnuphp $]rhurLururlnprftuh qnpEnr-lrtmplnr_trfrg
Tmurptp Ltullur\uh \ulr{hr.nurtr hulJuUrnrrf}rg
uJ[+nluurnnr dfgnghhp (1,083,158) 61,985
UurnFur4uru $nluurnnr-p1nrtrhtpfr rlurpmrlhhp (e7,928) (r,466,223)
Fudhtuhphplrtr r[drup urb 2uhurpudfhhhp
{DLrn ryrururutluru uFpnguhFF hnuphF'(oquurqnpb{urE)/uuurgrlrut $}rhurhuru'lnrilurh
pphnrlrtnrplnttmrl (1,181,086) (r,404,238)

urdu\urh dfgngLhpb L rlpul€ hrurJurpdtplrtp[r qnrur urd s589J84 T (5.887)
An$updhpul]rh rnrupptpnr-plnilrLhpfr urq4hgmp3mhp 4pulftu\urtr rlfr2ngLhpfr h 4purl-rg huliurpdhphtpfr
fuur (e3,502) (203,098)
]purilru\uh rllr2ngLhp h 4prutrg hulftupdtptrhp hur2rlhtnm rnurpr[ru u\qpmrf 39,842,049 45,286,422

lFuilru\urh dh2ngtrtF h ryrruhg hrurlurpdhptrhp hru2rltrnm dunlurhur\ru2r2urLlr rlhp2nul @urh. 15) 45,338,33r 45,077,437

Zur2{hullntplurh rlurlhpurgriurh ruiluurp}lfu' 13.04. l8p

Fuh\f qfuu{np qnpbur4}rp rnhopth
urhopfrhnr-p;urh hu:]uurqurh' U. Ztu\nplurl:

'L Uqrurnlurl:

#

$fiuullnp hur2{urqurh'



Lnprfiurnfrr[rtp

Lnpilururllllr
rlrruurnrug[r

ilhbnrpSnr-hp

hu2{up\{ub
purL\fr hulftup

\htruprrbu\urh
Fubllh

uurhrlurburb

hpiluuf{r
pnrllunngtfr
,fl-:-, ^,-, f ,-

Zur2rlturnt
tnudulur\ntrf

|uuluunufhtplr fohrln

FuLth hubnburnnurturh hhrfLurnnuLth tllurouromrh rulhn 16,416.63: s0,000 fuurlurnnul run[u 2
fh4hurhmn (uhrhruturh) turqhururth hrlurqruqnlrh rulhn 36,020,725 30,000,000 fuurfuurnr-rf urntlu I
Ll C\4huhmp \uqllnurfir h n]ru\nrl \2nr{urt ur\ur}l[rhp[ qnr-rlurptrtp[r rl[r2h

lrr.lurqruqmth hurnrunhnurtonrntmhn
76.7901 12.00o/c

fuurlurnnul un\u 1
L21 truL\f pnlnp urpdnqptrhpnrl urprnurhurlurlurb purpdp }rn-grltD ur\rn[r[rhp[r h

pnlnp urpdmlptrhpnrl rupururhurlullurb jhqhurtrntp ur\rnfr[trhp[r qnrrfurphtpfr rl[r2h
hrl urqurqntth hurnurnhnurh onrrarmtrn

,L? )AOl 15.00o/o

fuuluurntil urnl;ur 1

L21 1 truh\[r urnur2]rh ]urlp[ rupuurpdntlphhpnrl rupururhurlnrlrub pupAp

|tpurgqh$ ur\ulrrltrUnlr h urnru2|rh lurlplr urpururpdnrlphhpnrl urgrnurhurltnrlu.rb

nLnhurhmn urturhrlLhnh qnulurnhtnh rlhptr hr.lurqurqmlh hurnurnhnurtonrprnrLrn

17.9801 4.00o/o

fuulurnnr-rl urn\u 1t
L22 truL\f pnlnp urldnrlphtlnrl urpururhurlunlurb pupd.p trn*srlhdt ur\urfnltrhpfr b

pnlnp urpdnrlphhpnrl urpurruhur;ul{urb gqurhurh2 qurpr.nullnpnrplnrLhhlfr rlfr2tr
hrlurqurqnr-tb hurnurntnurtonrnrmLrn

174.4801 60.000/o

fuulluurntrf urnhu )t
L221 trutr\f unur2[rtr lurtpfr urpuurpdnr-lptrhpnrl urpururhurlurrlurb purpdp

bnutgrlhtr ur\u[l[trhp[r tr urnur2[rtr lurlpfr rupururpdnrlphtpnrl urptnurhurlnrlurb
qruurhutbg ruurnururilnnntntntLhtnh rJhol-r hrlunuonr rb hnrnrnnhnrrrhnnr nrnr hn

39 I

fuuluurnul run\ru 1t
L31 Uth rlrnluunnr-fr qbnil nhulth urnullhrrusnr-rh lulhn 20 fuulurnnr-il un\ur 1t
L32 fun2np {rn}uurnnrhhnh qbn{ nhuth urnullhturonlrh rurhn 30 500.00o/o fuulur.nnrd urn\ru 2t
\ll truLllfr htur \urutilurb rltll urh&h qbnil nhuth runulltrurqnrrtr rurhn 5.00o/o fuuluurnr-il urn\u-r 1t
U2 furh\[ hhtn \urqrlur6 pnlnp urh&urhg qbn{ nhutrh urnuu]hrursnrrh lulhn 7 20.000/o fuuluurnr-il urn\ur 2t

lurluruuurhfr 2urhpurqtrnnrp3urh \hbupnhur\urtr purh\nuf rntlurpur2]urlurb
qupuur4fp qruhnruurtrhpfr hrlurqurqnqh 2ulfrp

A

fuurlur.nnrd un\u 1k

Z2 nnullnr] 2.00o/o

Utft nnturnnrl 18.00o/o

b{pn1n! 18.00o/o

Uprnurpdmpurlbh 4hnpb h purh\|r ghqhurhntp \urq[lnur$ rlfr2h urnullhltuqnrlt:
hurnurphnurtqnlrdlnLLn (urEurhorurr onnbhohhnnil)

0.43o/o l0 00o/o

fuulurnnr-rl un\u 2t
UptnurpdnrprulhL +hnplt h purh\[ phqhurtrmp \urq]lnur$ rf]r2h urnullhluqmltr
hurnurntnurtontnrnlhn (urnurho urburhorurr onnlhnbhnh)

l0 00o/o

fuurlurnnul un\u 1t

Curn urnurtrd.frh urpururpdnr-;phtpfr lmpurpurhynrp rupururpdnlJfrh 4lrppF h purh\]r
pl4hurhnrp \urulhuurltr rllr2h urnullhlurqntgh hupruptpur\gnr-plntLp

UIIL nnrurnnr.l 7.000/o fuuluurnld urn\ur pt

bdnnrnil fuurlurnmrl run\ru yt
flmuurLurh nnrnrhnil fuuluurnrtl urn\ur 2t

Urr X fuurluurnul un\ur 2t

Zu2tlhullmplurh rlul[hprugrlurtr ulf uurpfllp'

truL\f qfiuu{np qnpbur4}rp lnLopttr
rnhoplrhmplurtr hurluurqurh'

efuu{np hur2rlurqurh'

2|lfhru\urh rnhurhuur\urh trrlptfunnll[rtp[r rltpurptpl ur1

3l ilupuf 2018p.

9nhrlhpu purh\OtrC, p. bpLurtr,.t. Uurpqu3urh 2611

(hnulfu;ru\Lulfrh)

ri),,(h

U. Zu\np3rulr

'I. Uqurlnlruh
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